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Find the exact value of - T . T T ' ’
a) sin30° /
: ' b) (1-sin® 4)sec’ 4
b) sec 45°
c) cos 300°
d)  tan 135°%
s 3
5. Prove that B+sinBcosB=ta.nB
cosB

Draw a neat sketch of sin 0 for 0° < 6 <360°

6. Solve for all the values of 6 between 0°and 360°
. cos@=-0.47
cotd =3.43

-

Given sinf = i and @ is aGl‘ltC, find the exact value of cotd
> 7. Find 8 to the nearest minute and hence find the area,
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58m




8. Find x to the nearest metre

9. Two ships are sailing at the same time. Ship A sails 8 nautical miles due cast

in one hour, and Ship B sails on a coarse bearing 120°, and after one hour has
travelled 11 nautical miles. How far apart are the two ships?

10.  ABCD is a triangular pyramid with BC=7m, CD=10m, BD=8m AB=AC and
ZACB = 67° Calculate .

a)  ZBCD

b) length AB, to the nearest metre.

—

11.  Show that cos68cos48 —sin68sin46 =2cos® 56 —1

12. ° Simplify cosec8(cosfd —1) by expressing in terms of # (tang)

}%& Find the general solution of sinf =-1
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Solve forB':lll the values of 8 between 0°and 360° .
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Find @ to the nearest minute and hence find the area.
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8. Find x to the nearest metre
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Two ships are sailing at the same time. Ship A sails 8 nautical miles due east

in one hour, and Ship B sails on a coarse bearing 120°, and after one hour has
travelled 11 nautical miles. How far apart are the two ships?
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ABCD is a triangular pyramid with BC=7m, CD=10m, BD=8m AB=AC and

ZACB =67° Calculate 1
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11. Show that cos66cos46 —sin 6@sin46 =2cos’ 56 -1
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12.  Simplify cosec(cosf—1) by expressing in terms of ¢ (tangj
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}ﬂ Find the general solution of sinf =-1
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